EARAROBREBRT —5 XN—ZXBISH—F

2023118308 () 18EREE3H

2R PEAY IRIAE YN (s | EEm - | 9 o0 B
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~, = [EI BB : -9-6- - BErlE—A (BEE)
1 g | LAYR—T50— i 2 s 1.(3_8).5 9-9-6-2 | 39.0 1 (4_1?3) e
RiZTvF—JO—-U— B:9TNI5T7— EvIUy RI7—L4
2 | AzEiE 1:38.6 3-3-2-2 |39.4| - 4 | 44 |FEEE (BEB)
217199989 /IbA " O53.0 /2) o |1¥F=71—2 @
RiR/—RS5TY BFRAYLAD MEZ Y K
o . RFRFIAEB : -2-1- - BHES (B4R
35| | NTTOVHL i R N S
RibwPO—)LR B:IVITILAVVT ¥H =B
=T :39. -6-5- . - X (BEE)
4|7]10| 707« ~O—=)L 21 3H0 R r A IR ° ?_174) SNIE/ N
R:FUTAASR §:758—5 U RS
N )1 |85 : -5-8- - ROZE (BEE)
5|5l 5| eraFromyr %2 | Bl b | e 02| - || e oEe
R:T—IVRFI9— B:SSTUAS U5 &S
o= = oo SHEX : ~7-4- - FHEEE (BEE)
61811 NFTARSAY 2 1'2‘2%'1 Srmas 08 ’ %? %éﬁ?
RVAYR—FA4Y B:Y7=SYvUT+ BHR|HE FIU—RTrF—L
P A s 2 | WHwE 1:40.2 10-10-10-10| 39.5 | — 10 | 460 |BYIBE—B (&EER)
7 2 | F—TSH— 55.0 &) “7) e
RYN/OTYY B INEUA INTT7—Ls
W 3= st 2 | AEER 1:40.2 6-4-7-5 | 40.7 | — 8 372 | HFLE— @EB)
8 3| YF/AAS 54.0 F93) 7) |EEEH
RiTFRIAVL—Y B:FI9/FRS—T) RO4%S
N IR : -8-9- - SiElY (BEE)
9 ACYEESIN it 2 i) 1.;18.4 7-8-9-7 | 40.8 7 (4_118) e
RFUSANIVE B:X—)LO7 BEE s
i i KIBEIE : -11-11- = Bitt® (ZEE)
N 1 R a A 42 e 1.212(;.8 12-11-11-11 39.9 6 (:1??) ;E';%g%
RPYS—2/— £:0-RF21)D BHRA/ FIU—LTrF—L
w o= I NOEEES— : -1-3- - BOXX (BaE
nl1l1 948 —TILRS R o2 | M 1.{151).9 1-1-3-9 | 42.7 9 (4+558) ﬁamjﬁ% ( )
R:Z2MOAVITVI—Y BIAH—F4T75 sl @
— Vs o2 | AlB— 1:43.1 1M1-12-12-12| 41.0| — | 11 | 453 |FEEBC R&E)
121812/ O—NDVR 55.0 ®) @ | (@ J P NEER
R:ZaLAIWIY BYIAFIvRAT« RA &L
@ 11— —®BIEfI
10—+— 1,6,9,10,5,3,7,11,8,2,12,4
21—F— 1.6,9,3,5,10,11,7,8,2,4,12
Sal=zr= 6,9,1,11,10,8,3,5,7,2,4,12
43— — 6,(8,9),11,3,5,7,10,1,2,4,12
o ILRE
B B 8 240M4 JA R 8-9 400/ % 5E 6-7 860M4 3EE 6-8-9 1,080
7B B 8 120 6-8 1804 5 & 8-9 1,250 3EH 8-9-6 5,600
9 180H 6-9 420/ Ba 8-9 1,580
6 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




